o(d dxy) (cm)

-
<
AN

o(d @) (rad)

Ratio

..................................................................

4 0 1 2 3

o(d dz) (cm)

107

—=— DQM_CKF_TT_base

—*— DQM_mkFit_TT_base

H ceeat R i
Fs . H 3
H B EFERE] EEE* T EEERE 3
I N X *
. = 3
N + | -
[ T 0 0 5 .- 0]k
LARE S X *
Rk T [+ +4
N E 3 - - 4
radBE 2 | 4 e -
- X <+ | T 3l
| [*l=]| |9 T -+
: B3
4 -
- -tk -
I 11111 11 1111 L 11 1 1 L1lilal i L1111

00 O U I

o 1 2 3
TP ® (PCA to beamline)

odp_/p

2 3
TP ® (PCA to beamline)




	Contents
	Page 1


